e )

6,503 | 6,470 | o | 33| | 0 0.5
21 ) (H29 ) (H31 )
T06(H27)  72%(H31)
( ) 70 7 72
s4n(H27)  56%(H31)
( 1 ) 54 55 56

1 0000278921




H30 |H31 [R02 [RO3 [RO4

L=1.3 [ [ 3

A07-001
L=0.4km | B ] 1

A07-002
V=2,800m3 [ ] 74

A07-003
L=0.5km [ I | 47

A07-004
N=1000 [ [ 1

A07-005
N=1 | ] 223

A07-006

0000278921



H30 |H31 [R02 [RO3 [RO4

L=0.8km | B ] 52

A07-007
L=2.0km | B ] 9

A07-008
A=1,729ha [ I | 538

A07-009
L=0.1km | B ] 5

A07-010
532m3/min [ I | 31

A07-011
[ [ 395

A07-012

0000278921



H30 |H31 [R02 [RO3 [RO4

L=0.12km | B ] 60

A07-013
[ [ 756

A07-014
[ [ 102

A07-015
[ [ 324

A07-016
[ 11

A07-017
L=0.3km | B ] 107

A07-018

0000278921



H30 |H31 [R02 [RO3 [RO4

L=1.4km " | = 110
A07-019 A=290ha

L=0.2km | B ] 38

A07-020
L=0.5km | B ] 19

A07-021
L=0.6km [ ] 37

A07-022
L=0.8km | B ] 68

A07-023
L=1.1km [ ] 12

A07-024

0000278921



H30 |H31 [R02 [RO3 [RO4

L=0.3km [ I | 358

A07-025
| B ] 17

A07-026
V=6,950m3 [ I | 1,884

A07-027
( ) N=40 = 17

A07-028
EXP.J 2 [ I | 18

A07-029
N=11 | = 18

A07-030 N=

0000278921



H30 |H31 [R02 [RO3 [RO4

L=0. . 6
A07-031 ok
L=0.4km . 40
A07-032
. 447
A07-033
L=0.3km .. 250
A07-034
A 18ha .. 298
A07-035
L=0.1 . 40
A07-036

0000278921



H30 |H31 [R02 [RO3 [RO4

A07-037

L=0.1km

54

6,470 |

6,470 |

0000278921



H30 |H31 [R02 [RO3 [RO4

C07-001

33

0000278921



0000278921



72

74

56

62

0000278921



